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Date Interpretation Table Chart Questions for EPFO Asst. Pre, SBI 
Clerk Pre, IBPS Clerk Pre and IBPS RRB Exams.  

DI Table Chart Quiz 93 
 

Directions: Study the following table chart carefully and answer the questions given below: 
 
The following table gives the information about the number of different models sold by TATA over the years. 

(All values are in thousand) 
 

Years/Model Nano Tigor Zest Bolt Hexa Nexon Indigo Sumo Indica 

2011 234 213 456 345 653 98 895 290 543 

2012 235 432 542 215 564 431 347 652 128 

2013 334 541 874 890 671 341 642 871 52 

2014 65 490 431 234 442 653 322 126 322 

2015 411 322 621 712 322 124 324 431 322 

2016 431 322 561 89 81 111 121 98 751 

2017 651 671 125 351 266 265 219 87 781 

 

1.  The total number of Nano car sold over the years is how many less than the total 
number of Indica car sold over the years? 

A. 533 thousand B. 538 thousand C. 442 thousand D. 446 thousand E. None of these 
 

2.  Find the absolute difference between the total number of all the model cars sold by 
TATA in 2017 and the total number of all the models cars sold by TATA in 2011? 

A. 321 thousand B. 311 thousand C. 323 thousand D. 302 thousand E. None of these 
 

3.  The total number of Bolt Model sold in 2012 and 2013 together is what percent of the 
total number of Sumo Model sold in 2014 and 2015 together? 

A. 178.28%  B. 165.25%  C. 195.38%  D. 204.28%  E. None of these 
 

4.  What is the approximate percentage increase in the sales of Nano in 2017 compared 
to that in 2011? 

A. 178.20%  B. 157.32%  C. 184.68%  D. 167.47%  E. 175.25% 
 

5.  What is the respective ratio of the Indica model sold in 2015 and 2017 together and 
the Bolt model sold in 2013 and 2014 together? 

A. 1109 : 1124  B. 1103 : 1124  C. 1109 : 1128  D. 1103 : 1118  E. None of these 
 

 
 



 

 

Correct Answers: 
 

1 2 3 4 5 
B B C A B 

 
Explanations: 

1. The total number of Nano car sold over the years = 2361 thousand  
  

The total number of Indica car sold over the years = 2899 thousand  
  

The required difference = 2899 – 2361 = 538 thousand  
  

Hence, option B is correct. 
 
 

2.   The total number of all the model cars sold by TATA in 2017 = 3416 thousand  

  

The total number of all the model cars sold TATA in 2011 = 3727 thousand  

  

The required difference = 3727 – 3416 = 311 thousand  

  

Hence, option B is correct. 

 
 

3.    The total number of Bolt Model sold in 2012 and 2013 together = 215 + 890 = 1105 thousand 
 
The total number of Sumo Model sold in 2014 and 2015 together = 126 + 431 = 557 thousand 

 

The reqd. % =  
1105 × 100 

 =  198.38% 
557 

 
Hence, option C is correct. 

 
 

4.   The sales of Nano in 2011 = 234 thousand 
 
The sales of Nano in 2017 = 651 thousand 
 

The reqd. % =  
(651 – 234) × 100 

 = 178.20% 
234 

 
Hence, option A is correct. 



 

 

5. The Indica model sold in 2015 and 2017 together = 322 + 781 = 1103 thousand  

  
The Bolt model sold in 2013 and 2014 together = 890 + 234 = 1124 thousand 

   
The required ratio = 1103 : 1124  

  
Hence, option B is correct. 
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